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61- Consumers generally purchase goods from ----------- and not from the manufacturers .
1) countrymen 2) retailers 3) tenders 4) tenants

62- When an offer ----------- ,it no longer legally exists and offeree can no longer accept it.
1) alters 2) bounds 3) lapses 4) restricts

63- The consideration must be $0 -------——-- that a court is able to place a legal value on it.

1) certain 2) benefitable 3) tortious 4) various

Y

-4y

-0A

-4

_;0



64-

65-

66-

67-

68-

69-

70-

A axio 838A a2y ol 4 sPgo (ygie

An acceptance is an absolute and unqualified ----------- to all the terms that comprise an
offer.

1) assent 2) boundary 3) credit 4) doctrine

A binding agreement involves a meeting of the minds and a contract may be ---------- by
the acceptance of an offer.

1) achieved 2) prohibited 3) promoted 4) represented

The rule doesn't apply to means of ---------- communication such as telex, telephone,
facsimile transmission or electronic mail .

1) collateral 2) distracting 3) informative 4) instantaneous

Each court generally has the power to order a stay of proceedings under its inher;
jurisdiction to prevent a/an ------------- of process.

1) requirement 2) dispute 3) confirmation 4) abuse

An invitation to treat is simply an invitation by one party to ---------- negotiatio hich
may lead to an offer.

1) commence 2) forecast 3) manage ’ 4 long

A court may decide that a contract is void for uncertainty, or be e language of the
agreement is ----------—- .

1) primary 2) worthless 3) useless

The law has long recognized that the capacity of mentally arties to enter into

contracts must be carefully ----~------- .
1) authorized 2) modified

PART B: Cloze Test
Directions: Read the following passag

af). the plaintiff (Carlill) saw a newspaper
advertisement placed by the defendant{@arbolic) (71) ----------- that their smoke ball” would
cure all sorts of illnesses in a. More importantly, the advertisement also stated
that the defendants offe y £1 Qto any person who used one of their smoke balls and

then (72) -----=--------- a within a specified time. The plaintiff purchased their smoke
ball and subseque with a/an (73) -------------- bout of the flu. She sued the
defendant for the efendant argued, inter alia, that an offer (74) ---------- bilaterally

(that is, an o
offer can be

ot be made to the entire world). The court (75) ---------- and held that an
terally (that is, an offer can be made to the entire world).

2) claiming 3) is claiming 4) who claims
2) attached 3) succumbed 4) pretended
2) nasty 3) random 4) obvious

2) could be made 3) must make 4)could make
2) disagreed 3) estimated 4) reinforced
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PART C: Reading Comprehension

Directions: Read the following passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice
on your answer sheet.

Passage 1

Rejection of an offer need not be explicit. An offer is terminated if the offeree simply makes
counter offer. A counter offer is a response that indicates a willingness to contract but o
different terms from the offer. In Hyde v Wrench (1840) (Ch), the defendant (Wrenc
to sell a farm to the plaintiff (Hyde) for £1,200. When the plaintiff rejected that offe
defendant made a further ofter to sell tor £1,000. The plaintift replied that he would pa
for it, but this was unacceptable to the defendant. The plaintiff later wrote to
purporting to accept the defendant’s offer to sell the farm for £1,0004he
subsequently refused to sell. The court held that the plaintiff had made @countér offer which
terminated the offer by the defendant to sell the farm for £1,000. Thereforehthe
for the plaintiff to accept.

The main idea of this passage is --------------

1) the definition of the offer and that of the counter offe
2) further information about an offer and an offerce
3) that an ofter is terminated if it’s rejected by the
4) that the counter offer is sufficient to show the
A counter offer, according to the passage,d
1) equivalent to the rejection of an
2) a response to a contract by an o
3) a willingness to contract but not

fferer’s terms

ling 3) defending 4) providing
r can be terminated -------------- .

1) asserting
According to the passa

1) clearly 2) 3) in written form 4) by third party
the counter offer i act of selling the farm was -----------
1) £950 3) £1.200 4) less than £ 950

hich may. as the name may suggest, operate as either a condition or a
nding on the effect of the breach.
right to terminate the contract will depend upon the nature and extent of the

the right*to end the contract. If the breach is minor, or is capable of simple rectification, then
the innocent party retains the right to claim damages but must continue with the performance
of the contract. In Hong Kong Fir Shipping Co Ltd v Kawasaki Kisen Kaisha Ltd (1962) (CA),
a two year ship charter agreement between the plaintiff (Hong Kong) and defendant
(Kawasaki) contained a seaworthiness term that the plaintiff’s ship was in every way fitted for
ordinary cargo service". This was not true, and the ship was unable to sail for some 20 weeks
of the contract. In subsequent litigation, one of the issues was whether the seaworthiness term
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was a condition or a warranty. The court held that although the plaintiff was clearly in breach
of the seaworthiness term, it was not a condition of the charter. The defendant was only entitled
to claim damages and not entitled to repudiate the contract. Diplock LJ stated , that the court
had to decide whether the breach in question deprived one of the parties 'of substantially the
whole benefit' which the parties intended the innocent party should obtain. His Lordship went
onto stipulate that this is an objective question that will not automatically be determined from
a prior classification in the contract of the term as a condition or as a warranty. In Cehave NV
Bremer Handelsgesellschaft mbH (Hansa Nord) (1976) (CA), this analysis was applied to a
contract for the sale of goods.

If the breach is not important, the innocent party ----------~-—--—- .
1) is capable of rectify the contract or end its performing

2) retains the right to claim damages and terminates the contract

3) has the right to change the condition of the contract

4) has to continue performing the contract L ‘

“it” in line 14 refers to -------------- .

1) breach of the seaworthiness term 2) condition of the

3) the seaworthiness 4) the breach

The nature and extent of the breach of the contract between nd Kawasaki is -—-- .
1) important 2) minor 3) one-si formable
According to the passage, terminating the contract gelys om,-----===--- .

1) the condition or the warranty of the contract
2) the nature and extent of the intermediate ter
3) any damage incurred to the innocent party
4) the seriousness or minority of the breac
“stipulate” in line 18 can be substituted by
1) consider 2) ponde 4) speculate
Passage 3

A contract will com
provided they are connected,
connecting documents

with the ing requirement if it consists of several documents,
d whemconnected, they form a complete agreement. The

ntifgl: by oral evidence. If a writing requirement applies, any
videnced in writing because the writing must contain all the

lleged that the plaintiff (British) orally agreed to a delivery outside London
reduction. The court held that the variation was not enforceable because
oods legislation required the contract to be evidenced in writing. Accordingly the
enforceable in its original, unaltered form.

You can infer from the passage that -------—--- .

1) for forming a complete agreement, a contract has to have at least one document
2) the connecting document is necessary to be identified by oral evidence

3) the contracts consist of one document or more than one document

4) all contracts consist of more than one document

“provided” in line 2 shows that the sentence is ----~-------- .

1) straight 2) realistic 3) inductive 4) conditional
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88- If a contract consists of several documents connected to it, It ---—-———--————- .
1) is provided that it has a legal value
2) will be accompanied by the writing requirement
3) should be formed by oral evidence
4) must be in complete agreement
89- It’s referred in the passage that the law for Sale of Goods ------------- .
1) depends on the kinds of goods and the conditions
2) can be in oral or written form
3) is determined by the agreement
4) must be in written form
90- “alleged” in line 9 is closest in meaning to ------------—--- .
1) charged 2) claimed 3) conclude 4) performe
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